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STRAIGHT LINES

Solved Examples

1. Find the distance between the parallel lines

?

Watch Video Solution

3x − 4y + 7 = 0 and 3x − 4y + 5 = 0

2. Find the distance of the point from the line .

Watch Video Solution

(3, − 5) 3x − 4y − 26 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lmXthkIvEWvM
https://dl.doubtnut.com/l/_QeyzDeYCeU5l
https://dl.doubtnut.com/l/_TOKOacyGxWjT


3. Find the equation of the line whose perpendicular distance from the

origin is 4 units and the angle which the normal makes with positive

direction of X axis is .

Watch Video Solution

15o

4. Find the equation of the line, which makes intercepts  and 2 on the x

and y axes respectively.

Watch Video Solution

3

5. Equation of a line is . Find its (i) slope, (ii) x and

yintercepts.

Watch Video Solution

3x − 4y + 10 = 0

https://dl.doubtnut.com/l/_TOKOacyGxWjT
https://dl.doubtnut.com/l/_iIzJP4Q6mwBB
https://dl.doubtnut.com/l/_qCABhNA5tbY9


6. The Fahrenheit temperature F and absolute temperature K satisfy a

linear equation. Given that when and that when

. Express K in terms of F and find the value of F, when .

Watch Video Solution

K = 273 F = 32 K = 373

F = 212 K = 0

7. Find the angle between the lines and 

.

Watch Video Solution

y − √3x − 5 = 0

√3y − x + 6 = 0

8. Reduce the equation  into normal form. Find the

values of p and .

Watch Video Solution

√3x + y − 8 = 0

ω

https://dl.doubtnut.com/l/_u9gwm5pgtd4d
https://dl.doubtnut.com/l/_IayzRAbQCXcM
https://dl.doubtnut.com/l/_yBp8dgvrI1RI


9. Find the equation of a line perpendicular to the line 

and passing through the point .

Watch Video Solution

x − 2y + 3 = 0

(1, 2)

10. Show that two lines and ,

where are : (i) Parallel if and (ii) perpendicular if 

.

Watch Video Solution

a1x + b1y + c1 = 0 a2x + b2y + c2 = 0

b1, b2 ≠ 0 = ,
a1

b1

a2

b2

a1a2 + b1b2 = 0

11. If the lines ,  and are

concurrent, find the value of k.

Watch Video Solution

2x + y − 3 = 0 5x + ky − 3 = 0 3x − y − 2 = 0

https://dl.doubtnut.com/l/_KLwUtcN9t2SZ
https://dl.doubtnut.com/l/_BObujv1xwFtf
https://dl.doubtnut.com/l/_WFZeYdKheaaN


12. Find the distance of the line 
 from the point P(4, 1)

measured along the line making an angle of 
with the positive xaxis.

Watch Video Solution

4x  -y  =  0

135o

13. Find the image of the point (1, 2) in the line .

Watch Video Solution

x − 3y + 4 = 0

14. Show that the area of the triangle formed by the
 lines


and 
is 

Watch Video Solution

y = m1x + c1, y = m2x + c2 x = 0
(c1 − c2)

2

2|m1 − m2|

15. A line is such that its segment between the lines 
and 


is bisected at the point (1,5). Obtain its equation.

Watch Video Solution

5x − y + 4 = 0

3x + 4y − 4 = 0

https://dl.doubtnut.com/l/_4tCoUyP3ILCH
https://dl.doubtnut.com/l/_DzAsmkbqW5eu
https://dl.doubtnut.com/l/_jgribnR20YWq
https://dl.doubtnut.com/l/_O2G85qHrgy4O


16. Show that the path of a moving point such that its distances from two

lines and are equal is a straight line.

Watch Video Solution

3x − 2y = 5 3x + 2y = 5

17. Write the equation of the line through the points and .

Watch Video Solution

(1, 1) (3, 5)

18. Write the equation of the line for which where is the

inclination of the line and y-intercept is 

Watch Video Solution

tan θ = ,
1

2
θ

−
3

2

19. Find the equations of the lines parallel to axes and passing through

.( − 2, 3)

https://dl.doubtnut.com/l/_O2G85qHrgy4O
https://dl.doubtnut.com/l/_nTImPazthzlE
https://dl.doubtnut.com/l/_HtjkD54Cmy3Y
https://dl.doubtnut.com/l/_T7NeAaWTJ7nC
https://dl.doubtnut.com/l/_cXH3N6Bun67t


Watch Video Solution

20. Find the equation of the line through with slope .

Watch Video Solution

(2, 3) 4

21. If the points 
lie on a line. Show that:

Watch Video Solution

P (h, k),  Q(x1, y1)and R(x2, y2)

(h − x1)(y2 − y1) = (k − y1)(x2 − x1).

22. In the following figure, the time-distance graph is shown for a linear

motion. As time , distance is  units and at , distance 

units. Using slopes, find the relation between distance and time.

Watch Video Solution

T = 0 2 T = 3 = 8

https://dl.doubtnut.com/l/_cXH3N6Bun67t
https://dl.doubtnut.com/l/_rrxlSw1gA29t
https://dl.doubtnut.com/l/_R1Zt6oHpNtIR
https://dl.doubtnut.com/l/_H8gmuHIWQ2m8


23. If the angle between two lines is and slope of one of the lines is ,

find the slope of the other line.

Watch Video Solution

π

4

1

2

24. If the points (-2,6) and (4,8) is perpendicular to the line joining the

points (8,12) and (x,24) then the value of x is

Watch Video Solution

25. Find the slope of the lines:(a) Passing through the points and 

,(b) Passing through the points and ,(c) Passing through

the points and ,(d) Making inclination of with the p

Watch Video Solution

(3, 2)

(1.4) (3, 2) (7, 2)

(3, 2) (3, 4) 60o

https://dl.doubtnut.com/l/_AXgtVpjR4ZoE
https://dl.doubtnut.com/l/_0P01JMP2DRX2
https://dl.doubtnut.com/l/_4IR338P30cX5


Exercise 10 3

26. Find the equation of line parallel to the y-axis and drawn through the

point of intersection of and .

Watch Video Solution

x  − 7y +  5  =  0 3x + y =  0

27. Find the new coordinates of point  if the origin is shifted to (1, 2)

by a translation.

Watch Video Solution

(3, 4)

28. Find the transformed equation of the straight line ,

when the origin is shifted to the point  after translation of axes.

Watch Video Solution

2x − 3y + 5 = 0

(3, − 1)

https://dl.doubtnut.com/l/_rNMtSK6gBglI
https://dl.doubtnut.com/l/_leeU82JNSZsN
https://dl.doubtnut.com/l/_OkSUogW9Rmoq


1. The line through the points (h, 3) and (4, 1) intersects the line

at right angle. Find the value of h.

Watch Video Solution

7x − 9y − 19 = 0

2. Prow that the line through the point and parallel to the line 

is .

Watch Video Solution

(x1, y1)

Ax + By + C = 0 A(x − x1) + B(y − y1) = 0

3. Two lines passing through the point (2, 3) intersects each other at an

angle of . If slope of one line is 2, find equation of the other line.

Watch Video Solution

60o

4. Find the equation of the right bisector of the line segment
joining the

points (3, 4) and (1, 2).

https://dl.doubtnut.com/l/_PPKrK35GFmWc
https://dl.doubtnut.com/l/_nNcCRznh382c
https://dl.doubtnut.com/l/_dTZeBipHkYFL
https://dl.doubtnut.com/l/_tPTVSvOu9GzG


Watch Video Solution

5. Find the coordinates of the foot of perpendicular from the point

to the line .

Watch Video Solution

( − 1, 3) 3x − 4y − 16 = 0

6. The perpendicular from the origin to the line meets it at

the point . Find the values of m and c.

Watch Video Solution

y = mx + c

(1, 2)

7. If p and q are the lengths of perpendiculars from the origin to the lines

and , respectively, prove

that .

Watch Video Solution

x cos θ − y sin θ = k cos 2θ x secθ + ycosecθ = k

p2 + 4q2 = k2

https://dl.doubtnut.com/l/_tPTVSvOu9GzG
https://dl.doubtnut.com/l/_jINvhPipTo8c
https://dl.doubtnut.com/l/_maexnbYYQ3qp
https://dl.doubtnut.com/l/_MkE5lDpeHxrk
https://dl.doubtnut.com/l/_DBqzhBCYHzkE


8. In the triangle
 ABC with vertices A (2, 3), B (4, -1) and C (1, 2), find the

equation and
length of altitude from the vertex A.

Watch Video Solution

9. If p is the length of perpendicular from the origin to the line whose

intercepts on the axes are a and b, then show that .

Watch Video Solution

= +
1

p2

1

a2

1

b2

10. Reduce the following equations into normal form. Find their

perpendicular distances from the origin and angle between

perpendicular and the positive xaxis.(i) , (ii) ,

(iii) .

Watch Video Solution

x − √3y + 8 = 0 y − 2 = 0

x − y = 4

https://dl.doubtnut.com/l/_DBqzhBCYHzkE
https://dl.doubtnut.com/l/_qivl8dXSBdiD
https://dl.doubtnut.com/l/_WPUGtDUNHDMv


11. Reduce the following equations into intercept form and find their

intercepts on the axes.(i) , (ii) , (iii) .

Watch Video Solution

3x + 2y12 = 0 4x3y = 6 3y + 2 = 0

12. Reduce the following equations into slope intercept form and find

their slopes and the y intercepts.(i) , (ii) , (iii) 

.

Watch Video Solution

x + 7y = 0 6x + 3y5 = 0

y = 0

13. Find equation of the line parallel to the line and

passing through the point .

Watch Video Solution

3x − 4y + 2 = 0

(2, 3)

https://dl.doubtnut.com/l/_gBaHft2WeO8Y
https://dl.doubtnut.com/l/_gUYtcYXMbHAF
https://dl.doubtnut.com/l/_dznwnoi8gnJT


14. Find the distance between parallel lines(i) and 

(ii) .

Watch Video Solution

15x + 8y − 34 = 0

15x + 8y + 31 = 0 l(x + y) + p = 0 and l(x + y) − r = 0

15. Find the points of the xaxis, whose distances from the line

are 4 unit.

Watch Video Solution

+ = 1
x

3

y

4

16. Find the distance of the point from the line 

.

Watch Video Solution

(1, 1)

12(x + 6) = 5(y − 2)

17. Find angles between the lines and .

Watch Video Solution

√3x + y = 1 x + √3y = 1

https://dl.doubtnut.com/l/_ezx1BEgKCtfR
https://dl.doubtnut.com/l/_PgSLZr4aKxyb
https://dl.doubtnut.com/l/_pFh6q9wFpoXm
https://dl.doubtnut.com/l/_VVvWabtpcodv


Miscellaneous Exercise

18. Find equation of the line perpendicular to the line and

having x intercept 3.

Watch Video Solution

x − 7y + 5 = 0

1. A person standing at the junction (crossing) of two straight paths

represented by the equations and = 0 wants

to reach the path whose equation is  in the least time.

Find equation of the path equation that he should follow.

Watch Video Solution

2x − 3y + 4 = 0 3x + 4y − 5

6x − 7y + 8 = 0

2. Find equation of
 the line which is equidistant from parallel lines


and 
.

Watch Video Solution

9x  +  6y   7  =  0 3x  +  2y  + 6  =  0

https://dl.doubtnut.com/l/_VVvWabtpcodv
https://dl.doubtnut.com/l/_8JhSasfoqFYQ
https://dl.doubtnut.com/l/_3zECjANq6UD4
https://dl.doubtnut.com/l/_i3fQ46jhxBkN


Watch Video Solution

3. If sum of the perpendicular distances of a variable point from

the lines and  is always 10. Show that P

must move on a line.

Watch Video Solution

P (x, y)

x + y − 5 = 0 3x − 2y + 7 = 0

4. Prove that the product of the lengths of the perpendiculars drawn

from the points

Watch Video Solution

(√a2 − b2, 0)  and( − √a2 − b2, 0)  to the line cos θ +  sinθ = 1
x

a

y

b

5. A ray of light passing through the point (1, 2) reflects on the x–axis at

point A and the reflected ray passes through the point (5, 3). Find the

coordinates of A.

Watch Video Solution

https://dl.doubtnut.com/l/_i3fQ46jhxBkN
https://dl.doubtnut.com/l/_L5Nwha1nbopB
https://dl.doubtnut.com/l/_4Bsuho9oGhCj
https://dl.doubtnut.com/l/_9IHtcB1Um3nR


6. Find the direction in which a straight line must be drawn through the

point so that its point of intersection with the line 

may be at a distance of 3 units from this point.

Watch Video Solution

( − 1, 2) x + y = 4

7. The hypotenuse f a right isosceles triangle has its ends at the points

(1,3) and (-4,1). Find the equations of the legs (perpendicular sides) of the

triangle.

Watch Video Solution

8. In what ratio, the line joining and is divided by the line 

?

Watch Video Solution

(1, 1) (5, 7)

x + y = 4

https://dl.doubtnut.com/l/_9IHtcB1Um3nR
https://dl.doubtnut.com/l/_bi4IqeyIlRtg
https://dl.doubtnut.com/l/_FhlTk6SP2fCm
https://dl.doubtnut.com/l/_FSBRIjq6FAwz
https://dl.doubtnut.com/l/_6Z2d3aZ9j0Wu


9. Find the distance
 of the line 
 from the point 

along the line 
.

Watch Video Solution

4x + 7y + 5 = 0 (1, 2)

2x − y = 0

10. Find the conditions that the straight lines


may meet in a point.

Watch Video Solution

y = m1x + c1, y = m2x + c2and y = m3x + c3

11. Find the equation of the lines through the point (3, 2) which make an

angle of with the line .

Watch Video Solution

45o x − 2y = 3

12. Find the equation of the line passing through the point of

intersection
of the lines 
that has

equal intercept to axes.

4x − 7y − 3 = 0 and 2x − 3y + 1 = 0

https://dl.doubtnut.com/l/_6Z2d3aZ9j0Wu
https://dl.doubtnut.com/l/_Nk0BSqb0lMDt
https://dl.doubtnut.com/l/_RDaBkGlvKTBe
https://dl.doubtnut.com/l/_mRkVZgRafd0M


Watch Video Solution

13. Show that the equation of the straight line through the origin angle 

with the line 

Watch Video Solution

φ

y = mx + b is =
y

x

m ± tanφ

1 ± m tanφ

14. Find the image of the point (3,8) with respect to the line 

assuming the line to be a plane mirror.

Watch Video Solution

x + 3y = 7

15. If the lines  and  are equally inclined to the line 

, then 

Watch Video Solution

y = 3x + 1 2y = x + 3

y = mx + 4 m =

https://dl.doubtnut.com/l/_mRkVZgRafd0M
https://dl.doubtnut.com/l/_MTEWt51w9yix
https://dl.doubtnut.com/l/_Nfe1X0pgVPjP
https://dl.doubtnut.com/l/_M4OpxMTXjAiA


16. Find the equation of a line
 drawn perpendicular to the line


through the point where it meets the y-axis.

Watch Video Solution

+ = 1
x

4

y

6

17. Find the equation of the line parallel to y-axis and drawn through the

point of intersection of the lines 

Watch Video Solution

x − 7y + 5 = 0 and 3x + y = 0.

18. Find perpendicular distance from the origin of the line joining the

points and .

Watch Video Solution

(cos θ, sin θ) (cosφ, sinφ)

19. What are the points on y-axis whose distance from the line

+ = 1 is 4 units?
x

3

y

4

https://dl.doubtnut.com/l/_GHyuas6tfxDV
https://dl.doubtnut.com/l/_w3PwSJdwo2Vc
https://dl.doubtnut.com/l/_bvJ8PnXqd1nE
https://dl.doubtnut.com/l/_mHqSVywwOYXO


Watch Video Solution

20. Find the equations of the lines, which cut-off intercepts on the axes

whose sum and product are 
and 
, respectively.

Watch Video Solution

1 −6

21. Find the values of  and p, if the equation is the

normal form of the line .

Watch Video Solution

θ x cos θ + y sin θ = p

√3x + y + 2 = 0

22. Find the values of k for which the line 



 is
 (a) Parallel
to the x-axis,
 (b) Parallel
 to the y-axis,

(c) Passing through
the origin.

Watch Video Solution

(k − 3)x − (4 − k2)

y + k2 − 7k + 6 = 0

https://dl.doubtnut.com/l/_mHqSVywwOYXO
https://dl.doubtnut.com/l/_PJjQKzOrwfyd
https://dl.doubtnut.com/l/_4u6rwIq89ovB
https://dl.doubtnut.com/l/_1RkW9vscukIn
https://dl.doubtnut.com/l/_GgWnweYbz7Ia


Exercise 10 1

23. Find the value of p so that the three lines , 

and may intersect at one point.

Watch Video Solution

3x + y + 2 = 0

px + 2y − 3 = 0 2x + y + 3 = 0

24. Find the area of the triangle formed by the lines

and .

Watch Video Solution

y − x = 0, x + y = 0 x − k = 0

1. A line passes through and . If slope of the line is m, show

that .

Watch Video Solution

(x1, y1) (h, k)

k − y1 = m(h − x1)

https://dl.doubtnut.com/l/_GgWnweYbz7Ia
https://dl.doubtnut.com/l/_o7qHT1HsFYy0
https://dl.doubtnut.com/l/_ncbR1TVNrqyB


2. If three points (h, 0), (a, b) and (o, k) lie on a line, show that

.

Watch Video Solution

+ = 1
a

h

b

k

3. Find the angle between the X- axis and the line joining the points

and .

Watch Video Solution

(3, − 1) (4, − 2)

4. The slope of a line is double of the slope of another line. If tangents
of

the angle between the is find the slopes of the other line.

Watch Video Solution

5. Consider the following population and year graph: find the slope of the

line AB and using it find what will be the population in the year 2010.

https://dl.doubtnut.com/l/_YtMh19l3MwjV
https://dl.doubtnut.com/l/_F1F5GHsvwQaQ
https://dl.doubtnut.com/l/_LZtfjk1DAbl6
https://dl.doubtnut.com/l/_4vtScXKYyapi


Watch Video Solution

6. Find the slope of a line, which passes through the origin, and the

midpoint of the line segment joining the points and .

Watch Video Solution

P (0, 4) B(8, 0)

7. Find a point on the x-axis, which is equidistant
from the point (7,6) and

(3,4).

A. 

B. 

C. 

D. 

Answer: A 

Watch Video Solution

( , 0)
15
2

( , 0)
17
2

( − , 0)
17
2

( − , 0)
15
2

( , 0)
15
2

https://dl.doubtnut.com/l/_4vtScXKYyapi
https://dl.doubtnut.com/l/_5QcDf6V7uLvO
https://dl.doubtnut.com/l/_JGntBNDJ0IRa


8. Find the slope of the line, which makes an angle of with the positive

direction of Y-axis measured anticlockwise.

Watch Video Solution

30∘

9. Without using the Pythagoras theorem, show that the points , 

and are the vertices of a right angled triangle.

Watch Video Solution

(4, 4)

(3, 5) (1, 1)

10. Draw a quadrilateral in the Cartesian plane, whose vertices are

, , and . Also, find its area.

Watch Video Solution

( − 4, 5) (0, 7) (5, − 5) ( − 4, − 2)

11. Find the distance between 
when i. 
 is

parallel
to the y-axis ii. PQ is parallel to the x-axis.

P (x − 1,  y1)and Q(x2, y2) PQ

https://dl.doubtnut.com/l/_UNFRDFEZy0bD
https://dl.doubtnut.com/l/_FkS5aGbw6eRA
https://dl.doubtnut.com/l/_XEtjrnmW1cuM
https://dl.doubtnut.com/l/_mMVaVyNpe6eJ


Watch Video Solution

12. The base of an equilateral triangle with side 2a lies along the y–axis

such that the mid–point of the base is at the origin. Find vertices of the

triangle.

Watch Video Solution

13. Without using distance formula, show that points 
, 
,


and 
are the vertices of a
parallelogram.

Watch Video Solution

( − 2, − 1) (4, 0)

(3, 3) ( − 3, 2)

14. Find the value of x for which the points , and are

collinear.

Watch Video Solution

(x, 1) (2, 1) (4, 5)

https://dl.doubtnut.com/l/_mMVaVyNpe6eJ
https://dl.doubtnut.com/l/_CHYIJyzhHmRh
https://dl.doubtnut.com/l/_pWRv2GkN2guv
https://dl.doubtnut.com/l/_JJFtbXrmmohs


Exercise 10 2

1. By using the concept of equation of a line, prove that the three points

, and are collinear.

Watch Video Solution

(3, 0) ( − 2, − 2) (8, 2)

2. Write the equations for the x–and y–axis.

Watch Video Solution

3. Find the equation of the line which satisfy the given conditions :

Passing through the point with slope .

Watch Video Solution

( − 4, 3)
1

2

4. Find the equation of the line which satisfy the given conditions :

Passing through (0, 0) with slope m.

https://dl.doubtnut.com/l/_9auoaKzigzwi
https://dl.doubtnut.com/l/_2LUucD6Z3oFa
https://dl.doubtnut.com/l/_4j0MmAmvzwfE
https://dl.doubtnut.com/l/_QYgQyszDL2kb


Watch Video Solution

5. Find the equation of the line which satisfy the given conditions :

Passing through and inclined with the xaxis at an angle of .

Watch Video Solution

(2, 2√3) 75∘

6. Find the equation of the line which satisfy the given conditions :

Intersecting the xaxis at a distance of 3 units to the left of origin with

slope .

Watch Video Solution

−2

7. Find the equation of the line which satisfy the given conditions :

Intersecting the yaxis at a distance of 2 units above the origin and

making an angle of with positive direction of the xaxis.

Watch Video Solution

30∘

https://dl.doubtnut.com/l/_QYgQyszDL2kb
https://dl.doubtnut.com/l/_thQiu5bCdQJc
https://dl.doubtnut.com/l/_uuMwTluT2heQ
https://dl.doubtnut.com/l/_CWAJnetmv6MR


8. Find the equation of the line which satisfy the given conditions :

Passing through the point and 

Watch Video Solution

( − 1, 1) (2, − 4)

9. Point R (h, k) divides a line segment between the axis in the ratio .

Find equation of the line.

Watch Video Solution

1: 2

10. P (a, b) is the midpoint of a line segment between axes. Show that

equation of the line is 

Watch Video Solution

+ = 2.
x

a

y

b

11. Find equation of the line passing through the point (2, 2) and
cutting

off intercepts on the axes whose sum is 9.

https://dl.doubtnut.com/l/_CWAJnetmv6MR
https://dl.doubtnut.com/l/_6IKu7FE9rhe1
https://dl.doubtnut.com/l/_jQivNfhL4gbk
https://dl.doubtnut.com/l/_Uj6S6vry8SdC
https://dl.doubtnut.com/l/_QWZheNohINzr


Watch Video Solution

12. Find the equation of a line that cuts off equal intercepts on the

coordinate axes and passes through the point (2, 3).

Watch Video Solution

13. A line perpendicular to the line segment joining the points (1, 0) and

(2, 3) divides it in the ratio . Find the equation of the line.

Watch Video Solution

1: n

14. Find the equation of the line passing through and

perpendicular to the line through the points and .

Watch Video Solution

(3, − 5)

(2, − 5) (3, − 6)

https://dl.doubtnut.com/l/_QWZheNohINzr
https://dl.doubtnut.com/l/_a1mFnXgw7pSI
https://dl.doubtnut.com/l/_AC0eGm5KGdG4
https://dl.doubtnut.com/l/_uX5ZEhitNLsv


15. The owner of a milk store finds that, he can sell  litres of milk each

week a  and  litres of milk each week at .

Assuming a linear relationship between selling price and demand, how

many lire could he sell weekly at ?

Watch Video Solution

980

Rs. 14/litre 1220 Rs16/litre

Rs17/litres

16. The length L (in centimetre) of a copper rod is a linear function
of its

Celsius temperature C. In an experiment, if 
 when 


 and 
 when 
 , express L in

terms of C.

Watch Video Solution

L  =  124. 942

C  =  20 L =  125. 134 C  =  110

17. The perpendicular from the origin to a line meets it at the point ,

find the equation of the line.

Watch Video Solution

(2, 9)

https://dl.doubtnut.com/l/_fLxGFClfEBdV
https://dl.doubtnut.com/l/_8EQ6LjaeFJhU
https://dl.doubtnut.com/l/_yINCpoGlxBlo


Exercise 10 5

18. Find the equation of the line passing through the point (0,2) making

an
angle 
with the positive x-axis. Also, find equation of line parallel to

it
and crossing the y-axis at a distance of 2 units below the origin.

Watch Video Solution

2π

3

19. Find the equation of the line which satisfy the given conditions :

Perpendicular distance from the origin is 5 units and the angle made by

the perpendicular with the positive xaxis is .

Watch Video Solution

30∘

20. The vertices of  PQR are , and . Find equation

of the median through the vertex R.

Watch Video Solution

Δ P (2, 1) Q(2, 3) R(4, 5)

https://dl.doubtnut.com/l/_jy8rJvXLUy08
https://dl.doubtnut.com/l/_PbPQ1wwWkuBT
https://dl.doubtnut.com/l/_fT5jQlrvv85H


Exercise 10 4

1. Find the new coordinates of the points in each of the following cases if

the origin is shifted to the point (–3, –2) by a translation of axes.(i) (1, 1)  

(ii) (0, 1)            (iii) (5, 0)         (iv) (–1, –2)       (v) (3, –5)

Watch Video Solution

2. Find what the following equations become when the origin is shifted to

the point (1, 1)(i) (ii) (iii) 

Watch Video Solution

x2 + xy − 3y2 − y + 2 = 0 xy − y2 − x + y = 0

xy − x − y + 1 = 0

1. Find the equation of the line through the intersection of 

and and perpendicular to the line .

Watch Video Solution

5x − 3y = 1

2x − 3y − 23 = 0 5x − 3y − 1 = 0

https://dl.doubtnut.com/l/_P8FyiFfbInpH
https://dl.doubtnut.com/l/_cAD1ZDtsfUJe
https://dl.doubtnut.com/l/_41SuRIaEtddx


2. Find the equation of the line through the intersection of lines

and  and which is parallel to 

Watch Video Solution

x + 2y + 3 = 0 4x + y + 7 = 0

5x + 4y + 20 = 0

3. Find the equation of the line through the intersection of the lines

 and that has its x-intercept equal to .

View Text Solution

2x +  3y 4  =  0 x − 5y =  7  4

4. Find the equation
 of the line through the intersection of lines


and 
and whose slope is 5.

Watch Video Solution

3x + \ 4y = \ 7 xy + \ 2\ = \ 0

https://dl.doubtnut.com/l/_41SuRIaEtddx
https://dl.doubtnut.com/l/_mroajISeK1Bj
https://dl.doubtnut.com/l/_bLyirTsvqYa0
https://dl.doubtnut.com/l/_At7MuOvsNTw3

